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115k s fi5 FAI7ILE 0.10 1004 01
11158 B'a fi5 Eifh 0.09 1005 03
1115k EiE HE Bith 0.13 0959 04
11150% Ei THEYE Rt 012 0955 01
11158 B'a THEE Eifh 0.30 0998 02
11158 it THEYE EHith 0.20 0999 01
11150% Ei TR b F 0.22 1003 09
11158 TS TR FARAI7ILE 0.15 1003 10
11150% wa ZNR Hih 0.21 1042 02
1115k B'a =15 Bt 0.10 0914 03
1Sk =S HE i 0.46 0956 02
11150% =a BX b F 0.08 1000 01
11151 i HER Bt 0.09 0961 05
1Sk A HHIR i 0.26 0957 01
1115k s e R AT FTAIF7ILE 0.09 0916 02
1Sk =S ESHHE FAI7ILE 0.11 0918 04
1Sk PN ¥/ FAI7ILE 012 0959 07
11150% Ba F/u Rt 0.14 0959 08
1Sk Ei TN K 24 0.08 0918 05
1Sk s Rk FTAIF7ILE 0.10 0959 02
11150 =A ¥k Fih 0.08 0959 03
11151 s =R Bt 012 1003 07
1Sk Ei TN =R FAIF7ILE 0.10 1046 02
1Sk A i FTAIF7ILE 0.11 0915 02
1Sk =S ik E FAIF7ILE 0.11 1004 04
11150 =A H Fih 0.19 0959 01
1115k i LiEiS Bt 0.14 0999 03
1Sk EiEN £ Eih 0.22 1041 02
11150 B'a L HT R 0.24 0958 03
11150 =A Wi5 R 0.15 0959 05
1Sk it W5 FTAIF7ILE 0.11 0959 06
1115k i HETE Bt 0.16 0915 01
11150 =A {ZFHET b 0.09 0957 03
11150 =A A 7 b F 0.09 1003 11
11150% = A FAI7ILE 0.22 0961 04
1Sk EiEN aHE FTAIF7ILE 0.10 1003 06
11150 =A AIH R 0.22 1042 01
11150 =A JIE#£ R 0.11 1041 03
11151 i BI=AK Hit 0.35 0956 03
11150 =A AIAH Fih 0.10 0961 02
11458 EiEN AITE B 0.14 1001 01
11150% = FIE it 0.25 0958 02
11150 =A KH K Hih 0.25 0916 04
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11150 P KA Eith 0.11 0917 01
11{50% Ei RARKH Fih 0.18 0915 03
11158 PN A HuET FAI7ILE 0.13 0961 01
115k B'a A HuET FAI7ILE 0.14 1005 01
11150% wa K Rt 0.11 1004 03
11151 EiE FhiE YR i 0.28 0997 02
1115k B'a AR FAI7ILE 0.09 0960 05
11150% wa h & ih Rt 0.14 0960 03
11150% wa R T Fih 0.10 0916 03
1115k B'a FH FAI7ILE 012 0960 04
11458 =S g 2t 0.32 1001 02
115k A H g 2t 012 1002 04
115k s g FAI7ILE 0.10 1002 05
115k A i Bith 017 1002 06
11{50% E'A BTER Hih 0.31 0958 01
1Sk =S BE 2t 0.10 1002 02
1MEE | 5 HIER Eih 0.33 0956 01
11151 i ISR i 0.27 0999 02
11158 A HEEE 2t 0.22 0874 01
11151 i 5 Bt 0.08 0960 01
11151 EiE 5 Bt 0.11 1002 09
11{5R& B'a Ei5 b F 0.16 1003 01
11{5R& =A Ei5 b F 0.16 1003 02
11151 EiE 5 Bt 017 1003 12
11{5R& B'a Ei5 b F 0.08 1003 14
11150 =A SERN Hih 0.29 0916 01
1115k i B i 0.24 0917 03
1115k EiE EARMK Bt 017 1000 02
11151 i EARMK Bt 012 1041 01
11150 =A E—An b F 0.12 1003 08
1Sk it mEE EHi 0.34 0957 02
1Sk EiEN 3] 2] B 0.14 1003 03
11150% = MH FAI7ILE 0.13 1003 04
1Sk i 3] 2] EHi 012 1003 05
11150 =A FH R 0.16 1003 13
11150 B'a FH Fih 0.10 1003 15
11150 B'a HHE i 0.18 0873 02
11150 =A HH Fih 0.29 0874 03
11150 B'a K/A Fih 0.24 0914 01
11150 =A RK/A Fih 0.11 0915 04
11150 =A AFEB&EK Fih 0.08 1004 05
1Sk A Jb—A FAIF7ILE 0.14 1004 02
11150 =A LR Hih 0.26 0955 02
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11150% wa P d=al 3 Rt 0.10 1002 07
11{50% Ei ER % Fih 0.11 1002 03
1115k s B FAI7ILE 0.11 1002 08
11158 B'a AR Eifh 0.27 0917 02
11158 B'a BATE FAI7ILE 012 0960 02
11158 B'a $ATE FAI7ILE 0.09 0918 01
11150% BEAZ=TH b F 0.28 0875 03
1115k HEAL=THE Eifh 0.27 0875 02
115k KiEAE ZEF ] 0.11 0950 03
11{50% XESE FIIRE b F 012 0832 01
11158 XKELE wa b F 0.16 0829 02
115k KEEAE BE Bt 0.24 0955 03
11{50% RELE T/F Fih 0.10 0829 01
11458 REE FT/E FTAIF7ILE 0.08 0870 04
11{50% RELE TEHA i 0.23 0831 02
11150% RELE AR Fih 0.19 1037 02
11458 REE AR i 0.23 1037 03
11150% RELE AR Fih 0.26 1038 01
11458 REE AR i 0.20 1038 02
11150 RELE AR R 0.10 0793 03
11150 RELE = R 017 0871 02
11150% KEE =/F Eiih 0.19 0871 01
11150 RELE $RH i 0.15 0911 03
11150 RELE EAK Hifh 0.23 0954 03
11150 RELE A& R 0.08 0871 03
11150 RELE I R 0.08 0996 03
11150% REE [R G Eih 0.19 0953 02
11458 REE B/A FTAIF7ILE 0.07 0911 04
11150% REE HERN Eih 0.16 0913 02
11150 REE = i 0.22 1040 03
11150 REE FH Hih 0.11 0995 03
11150 REE TAH Eih 0.21 0998 03
11150 REE EEER R 0.11 0792 01
11150 REE SHHET b F 0.13 0792 02
11150 REE {£H Hih 0.19 0792 03
11150 REE £ i 0.23 0998 01
11150 REE A Eih 0.41 0913 03
11150% REE = Eiih 0.23 0912 02
11150 REE Ly R 0.09 0950 01
11458 REE kR it 0.14 0870 02
11458 REE % H FAIF7ILE 0.08 0912 04
1Sk K4 £ /8T B 0.08 0911 01
11458 REE tFA B 0.11 0870 01
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11150% RESE t#HH i 0.19 0996 02
11{50% XESE L i 0.27 0830 01
11150% XESE 8 Rt 0.19 0830 03
115k REE il it 0.19 1040 01
11150% RESE [ib b F 0.10 0997 03
1115k REE FINFIR L F 0.08 0719 01
11150% XESE AR Ehh 0.21 0830 02
11158 RELE &/ Eiih 0.23 0997 01
11150% RESE i Rt 0.21 0874 02
1Sk K4 F~H Eith 0.30 0873 01
1115k REE wE ] 0.10 0952 02
11458 REE TR FTAIF7ILE 0.09 0952 01
11{50% RELE FINE Rt 017 0951 03
11150% RELE JiimE Eih 0.18 0954 01
11{50% RELE BIF3R Rt 013 0720 01
11150% RELE BIF3R Rt 0.07 0755 01
11158 RELE BIS i b F 0.15 0831 01
115k KEEAE IS Bt 0.19 0951 01
115k KEEAE REHI Hith 017 0829 03
1115k REE KF Bt 0.04 0818 01
11150 RELE KFE R 0.05 0818 02
11458 RELE KFE b F 0.06 0818 03
11150 RELE RAR Hih 0.26 0951 02
1115k REE &Il Bt 0.19 0953 01
11150% KEE ==J]] Eih 0.19 0953 03
11150 KL ==} 3] b F 0.08 0912 03
11150 KL FH DE] 017 0872 02
11150% R4 hH Bt 0.19 0872 03
1Sk KL FH B 017 0873 03
11150 REE BT R R 0.12 0870 03
11150 KL EEiE i 0.17 0995 02
11150 REE EEiE b F 0.09 0996 01
11150 KL R F Hih 0.25 0831 03
11150 REE [E2bid Hih 0.29 1039 01
11150 KL EiTF Hih 0.22 0952 03
11150 KL EiTF Hih 0.18 0952 04
11150 REE g Hih 0.23 0995 01
11150 KL Bikis R 0.22 0872 01
11150 REE =F R 0.10 0911 02
11150% REE HE Eiih 0.23 0954 02
11150 REE EN b F 0.12 0950 02
1Sk KR4 =@ 2 0.14 0912 01
11150% REE & it 0.23 0914 02
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115 | K#EE BEN B ith 0.28 0913 01
115 | K#EAE % B 4 B 7 0.11 1039 02
1EE | K#EAE X% B 4 Eih 0.25 1039 03
11151 KL 3R R 0.09 0755 02
11151 KL 3R R 0.08 0755 03
11151 KL 3R T F| 0.07 0756 01




